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(a) Define economic rent. Using suitable diagrams explain (
economic rent when elasticity of supply is zero and

infinity.

(b) Derive the backward bending supply curve of labour.
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Explain the theory of comparatiye cost. advantage of (

intemational trade. Highlight the main arguments in favour of

free trade. 15
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This paper consists of 8.questions.

Answer any 5 questions.
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(q) Using appropriate diagram make a comparative analysis

of social cost under perfect competition and

monopoly.

(b) Define price discrimination. Explain perfect price

(
discrimination with a diagram. 9,6

(sr) scgffi Mrd Ei v${ff t 1,i vftr+Fmr qt

!f{',rnr*.R * iffi4d qrqrts{, mrrfr + cq
gS{fiCE lEI{f,tttri tFnqq r

(s) qt{d fsqE +1 qreql 61fqqr \r+- Mq, s1

-vfl{dr t {oi stq( frqs Eft qrqr qlfqqr

Define monopolistic competition market. Using diagrams

determine the price and output in short-run and long-*n in.

this market. l5
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(q) Explain the kinked demand curve model of oligopoly.

(b) Discuss the price leadership model of oligopoly. EJ
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Explain the process of market adjustment when demand

increases and decreases.

What is the role of Government and bargaining in

intemalizing extemalities ? What are the major difficulties

of these approach ? 7,8
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What do you understand by market failure ? WhaJ are

the major sources of market failure ?

What are the characteristics 
. 
of public goods ? Explain

Ihese characteristics with suitable examples. 96
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8. Write shon noles on any rwo of the following : 7V2,1%

(a) Natural monopoly

(b) Prisoner's dilemma

(c) Excess capacity

@ Protectionism.
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